198 High-level Message Passing Chap. 11
/* ptinit.c - ptinit */

#i ncl ude <xi nu. h>

struct ptnode *ptfree; /* List of free nessage nodes */
struct ptentry porttab[ NPORTS]; /* Port table */
int32 ptnextid; /* Next table entry to try */
2
* ptinit - Initialize all ports
K o o o e e e e e e e e e e e e e e e e e e e e e e e .= -
*/
syscal | ptinit(
i nt 32 naxnsgs /* Total nessages in all ports */
)
{
int32 i; /* Runs through the port table */
struct ptnode *next, *curr; /* Used to build a free |ist */

/* Alocate nenory for all nessages on all ports */

ptfree = (struct ptnode *)get nen{maxnmsgs*si zeof (struct ptnode));
if (ptfree == (struct ptnode *)SYSERR) {
panic("ptinit - insufficient nenmory");

}

/* Initialize all port table entries to free */

for (i=0; i<NPCRTS ; i++) {
porttab[i].ptstate = PT_FREE
porttab[i].ptseq = O;

}

ptnextid = 0;

/* Oreate a free |list of nessage nodes |inked together */
for ( curr=next=ptfree ; --nmaxmsgs >0 ; curr=next ) {

curr->ptnext = ++next;

}

/* Set the pointer in the final node to NULL */

curr->ptnext = NJLL
return CK;



